m[m P@

x _
% ¢, ° BR (g')
— &
,Tz, - ':f"(z,) e sz — f,
o= m (%:x , 0 )
6. %. (%) EV; = $12.328
El},} = 0.7 J}OD,DDO + S50 03
0.3 {50,000 + 52,500
EVR = b20. 2D
by

T, = (0.3] (¥s0,000) = 125", DOO

J(SFZ/S‘DD - n;“ = b2d. 20
M = 167,852



12/10 p2

@) w= MRE Lz 80w
| -_l:__
koo o L2
ev
- wl-
LL) E 2
= = 2L 1o
d - A0 - . 7 W
S S 0 _ 200
mMe = U W:%) L=
‘ Sl—-
<) i wiag % At | ’*"'
e t
p- L= g =
l‘t’D' M@V,,
- 240 320



g 12/10 p3

I MC




[0 — & = (Vo
Q= 60 \

p = (00 (00 |—

4=, nz bO

(-() P': 160 - a
T({: léD&’Qz
MR = Lbo- 2R for @760
@a:bo, MR = 40
'-w~
C,= 100 + :
T ,Oi'l-}é%
der .
Ef-r = 10+ $- @ Zf:éo’ Py B T8
AC. = 102 w10 "
b{ e .
AC
: AI _w L = 0
- 9.2
oo =
i-r@ 7——1&;0
4c = 131_"/0{-‘2
=14.14




iz/t0 ps

G 17 (a D = wfo- 1)
MC = l03v!0 = P
= |+ £
L D
s
0 B = Fo+ 9p
+~??: uyow!rf;-—-a P =15
(Q::ZZg’
= 2.5

o) ¢ = ST 2l
A = S‘z—'l0+ ?—g-
dic. . ¢ — 22 -0 g =4 el
/’o['i)’ A %'2'
C =
j.’o v De = 100, Dﬁlw]d:%
P, ’ n:—lg‘D
€) Qa= 50 |
Pa'? 15
" o
fy = 39




fzfu? Fé
L R







